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QUESTION 1

Which of the following best describes the purpose of a business scenario?

A. To define and plan an enterprise architecture transformation based on Capability-Based Planning
B. To develop a set of general rules and guidelines for the architecture being developed

C. To develop a set of security guidelines for the architecture being developed

D. To help identify and understand the business requirements that an architecture must address

E. To identify and mitigate the risks when implementing an architecture project

Correct Answer: D

QUESTION 2

Which one of the following statements about TOGAF Building Blocks is NOT true?

A. They are a package of functionality intended to meet the business needs across the organization

B. They should have stable, published interfaces that allow other building blocks to interoperate with them
C. They are equivalent to software component objects or web services

D. They may have multiple implementations but with different, interdependent Building Blocks

E. They may be assembled from other Building Blocks

Correct Answer: C

QUESTION 3

What level of the Architecture Landscape provides a long-term summary view of the entire enterprise?
A. Capability Architecture

B. Operational Architecture

C. Segment Architecture

D. Strategic Architecture

E. Tactical Architecture

Correct Answer: D

QUESTION 4
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In the Solutions Continuum, Which of the following is the correct order of Solutions from most-specific to most-generic?
A. Common Systems, Foundation, Industry, Organization-Specific
B. Organization-Specific, Industry, Foundation, Common Systems
C. Foundation, Common Systems, Industry, Organization-Specific
D. Industry, Foundation, Common Systems, Organization-Specific
E. Organization-Specific, Industry, Common Systems, Foundation

Correct Answer: E

QUESTION 5

In TOGAF, what is the difference between an artifact and a deliverable?

A. An artifact contains one or more deliverables

B. Artifacts and deliverables are synonymous; there is no difference between them

C. Deliverables are prepared by the Project Manager, whereas artifacts are defined by the Architect
D. Deliverables are reusable, whereas artifacts are unique to a given architecture project

E. Deliverables are specified as contractual outputs from a project, whereas artifacts are not

Correct Answer: E
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